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DR. NTR UNIVERSITY OF HEALTH SCIENCES :: VIJAYAWADA – 520 008
M.B.B.S. DEGREE EXAMINATION – JANUARY, 2025
FINAL M.B.B.S. EXAMINATION – PART – I (SET-D)

COMMUNITY MEDICINE (Paper – II)
(Multiple Choice Questions) (SET-D)

Time: 20 Minutes Max. Marks: 20
Note: Answer all questions

SECTION – I (MCQs – 20 MARKS) 1X20=20

1) Incubation period of MUMPS is
a. 14-21 days
b. 14-21 months
c. 10-15 years
d. None of the above

2) Wuchereria bancrofti is causative agent for
a. Lymphatic Filariasis
b. Dengue
c. Malaria
d. None of the above

3) Diagnosis of Drug resistance form of Tuberculosis can be done by
a. Cartridge Based Nucleic Acid Amplification Technique (CBNAAT)
b. Sputum Smear Microscopy
c. Both
d. None of the above

4) Sudden Antigenic variations in influenza is termed as
a. Antigenic Shift
b. Antigenic drift
c. Both
d. None

5) Stroke is most commonly caused by
a. Ischemia
b. Hemorrhage
c. Equally same
d. None of the above

6) Most common type of cancer in women in India is
a. Cervical cancer
b. Lung Cancer
c. Oral cancer
d. Breast cancer

7) Hypertension is systolic blood pressure measurement beyond
a. 100 mm of Hg
b. 120 mm of Hg
c. 140 mm of Hg
d. 80 mm of Hg
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8) Body Mass index helps us to diagnose
a. Diabetes
b. Hypertension
c. Obesity
d. Cancer

9) Family planning method of choice for newly married female
a. Terminal Sterilization
b. Intrauterine devices
c. Oral contraceptive pills
d. Male condom

10) Communication process involves
a. Sender & receiver
b. Message & Channel
c. Feedback
d. All of the above

11) India is presently in the following stage of Demographic cycle
a. High Stationary
b. Late expanding
c. Declining
d. None of the above

12) Ideal woman candidate for intrauterine contraceptive device is
a. With history of Pelvic disease
b. Who has borne at least one child
c. Abnormal menstrual period
d. None of the above

13) Behavioral changes can be best expected by
a. Mass communication
b. Personal communication
c. Didactic lectures
d. None of the above

14) Cost effective analysis measures
a. Monetary output
b. Results achieved
c. Manpower
d. None of the above

15) Health education
a. Makes people take rational decision
b. Appeals to emotion
c. Process is information centered
d. None of the above
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16) World Health Organization has headquarters in
a. Geneva
b. London
c. Chicago
d. Bangalore

17) Percentage of elderly people in India is
a. 10%
b. 30%
c. 40%
d. 2%

18) Inactivated Polio vaccine in India is
a. Given orally
b. Live attenuated vaccine
c. Prevents reinfection with wild virus
d. Given subcutaneously or intramuscularly

19) Maximum burden of substance abuse in India is because of
a. Alcohol
b. Cannabis
c. Opioid
d. Sedatives

20) Diabetes diagnosis can be done based on
a. Fasting plasma Glucose level
b. Post prandial Plasma glucose level
c. Glycosylated hemoglobin
d. All of the above

***
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